MBF3C: Mathematics of Personal Finance
Day 4: Investigating Exponential Relationships

Date:

Unit 6: Exponents

Investigating Exponential Relationships

The temperature data collected by a temperature probe has been recorded in the following table.

a) Calculate the 15t Differences = (y2 — y1)
b) Calculate the 279 Differences (1t Diff, — 15t Diffy)
¢) Calculate the Ratio of Successive y-values 2 (y2 + yi1)

d) Plot the (x, y) coordinates and draw the graph.
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MBF3C: Mathematics of Personal Finance Date:
Day 4: Investigating Exponential Relationships Unit 6: Exponents

An EXPONENTIAL FUNCTION is a function with a _\/Q fl'O.bI"— in the exponent. y = aX

Some examples would be y=2" y=10" y= (%j
1. Sketch the graphs of y =2" and y = 3" on the same axes Y= Y=
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a) Comparing to the general exponential function y=a*,is a>1 oris 0 <a<12 ﬂ>‘j' .

b) What is the y-intercept 2 (O; 1) . Is there an x-intercept 2 _NO
INcregs'ng,

c) Are the functions increasing or decreasing?

1" 1"
2. Sketch the graphs of y = (Ej and Yy = (Ej on the same axes
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a) Comparing to the general exponential function y=a*,is a>1 oris 0 <a <12 Oé a <'L .
b) What is the y-intercept ¢ (O! '0 . Is there an x-intercept 2 _N©o

c) Are the functions increasing or decreasing? decregs 'l_f)
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